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Name: __________________________________


1
Which expression is not equivalent to [image: image1.png]log, 36



?

	1)
	[image: image2.png]6log,2





	2)
	[image: image3.png]log, 9 +log,4





	3)
	[image: image4.png]2log,f





	4)
	[image: image5.png]log, 72 - log,2







2
The expression [image: image6.png]log12



 is equivalent to

3
The expression [image: image7.png]log4x



 is equivalent to

4
The expression [image: image8.png]logdm®



 is equivalent to

5
If [image: image9.png]


, [image: image10.png]log4



 equals

6
If [image: image11.png]2x°



, then [image: image12.png]logy



 equals

7
If [image: image13.png]


, then [image: image14.png]logZ



 is equal to

8
The expression [image: image15.png]og2-



 is equivalent to

9
If [image: image16.png]<fn



, which expression is equivalent to [image: image17.png]loga



?

10
If [image: image18.png]


, then [image: image19.png]log T



 is equivalent to

11
The expression [image: image20.png]log /7y



 is equivalent to

12
If [image: image21.png]


, which expression is equivalent to [image: image22.png]logx



?

13
If [image: image23.png]


, then [image: image24.png]logx



 is equal to

14
[image: image25.png]


 is equal to

15
The expression [image: image26.png]


 is equivalent to

16
[image: image27.png]


 is equivalent to

17
The expression [image: image28.png]


 is equivalent to

18
The expression [image: image29.png]lng[

i



 is equivalent to

19
The expression [image: image30.png]E
og



 is equivalent to

20
The expression [image: image31.png]


 is equivalent to

21
If  [image: image32.png]


, then [image: image33.png]logr



 can be represented by

22
The equation [image: image34.png]


 is equivalent to

23
The expression [image: image35.png]


 is equivalent to

24
If [image: image36.png]logx® - log2a



, then [image: image37.png]logx



 expressed in terms of [image: image38.png]loga



 is equivalent to

25
[image: image39.png]Logcotd



 is equivalent to

26
The magnitude (R) of an earthquake is related to its intensity (I) by [image: image40.png]R= lng[

I



, where T is the threshold below which the earthquake is not noticed.  If the intensity is doubled, its magnitude can be represented by

27
The speed of sound, v, at temperature T, in degrees Kelvin, is represented by the equation [image: image41.png]


.  Which expression is equivalent to [image: image42.png]logv



?

28
A black hole is a region in space where objects seem to disappear.  A formula used in the study of black holes is the Schwarzschild formula, [image: image43.png]


.  Based on the laws of logarithms, [image: image44.png]log R



 can be represented by

29
Banks use the formula [image: image45.png]


 when they compound interest annually.  If P represents the amount of money invested and r represents the rate of interest, which expression represents [image: image46.png]log4



, where A represents the amount of money in the account after x years?

30
The equation used to determine the time it takes a swinging pendulum to return to its starting point is [image: image47.png]ra |
g



, where T represents time, in seconds, [image: image48.png]


 represents the length of the pendulum, in feet, and g equals [image: image49.png]32 ftf sec?



.  How is this equation expressed in logarithmic form?
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[image: image51.png]log3+ 2log2
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3
ANS:


[image: image52.png]log4 + logx
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080022siii
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ANS:


[image: image53.png]log4 + 2logm




[image: image54.png]
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[image: image55.png]log 7+ 2logr
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6
ANS:


[image: image56.png]log2 + 3logx




[image: image57.png]log2x® = log2 + logx® = log2 + 3logx
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ANS:


[image: image58.png]2logx-logk
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[image: image59.png]3logh-loga




REF:
060319siii

9
ANS:


[image: image60.png]logx - 2logy
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[image: image61.png](1+ 2logx)—logy




[image: image62.png]2
0g 7= 1ng”% Iog10+logx® ~ logy = 1.+ 2logx—logy
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[image: image63.png]L (ogre+ log)




REF:
068122siii

12
ANS:


[image: image64.png]Zlng8+%lng5
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[image: image65.png]oga+ %lngb “loge
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[image: image66.png]1 1
3 log+ 3 logy—logz
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[image: image67.png]%(lngx+lngy)*lngw
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[image: image68.png]%Onga*lngb)
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[image: image69.png]1
g logy
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[image: image70.png]2ogx + Tlogy— %lngz
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[image: image71.png]%(Zlngx+ 3logy) - Iog:
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[image: image72.png]1
3 loga~logs
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[image: image74.png](2logx-+10gy) - logz
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[image: image78.png]logcos A - logsind
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[image: image79.png]log2+log/-logT
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[image: image83.png]log 2 + log G+ loghd - 2loge
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[image: image85.png]log P+ xlog(1+7)
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[image: image87.png]lngT:lngZ+lngr{+%lngl*%lngZZ




[image: image88.png]1ng1:1ng(zn\/7)

= ﬂg(Z"( )’)
N
=log2+log 7 +log(—)?
g2+ log 255"
[
~log2+logw+ ~log —
og2+ log w+ 5log

—log2-logr+ %angklngzz)

:lng2+lngr{+lzlnglflzlng32




REF:
080709b
